
CMF1201-EX-RUS230619

CMF1201
No Description No Description 

1 sealing ring 24 bearing s625

2 circlip ∅

∅

37 25 washer

3 pressing board 26 balance part

4 blade fixing seat 27 bearing 61803

5 spring 28 washer 

6 shaft 29 washer 

7 fixing seat 30 shaft 

8 bearing 61805 31 screw M3x8

9 fixing pin 32 motor fan 

10 alu head 33 motor gear 

11 screw 34 screw M3x8

12 bearing 6000 35 motor board 

13 circlip  10 36 motor 

14 cover 37 switch board 

15 screw  M3x12 38 screw ST2.9x6

16 protecting cover 39 speed adjusting board 

17 pressing board 40 switch button 

18 handle 41 blocking spring 

19 screw M3x10 42 rubber pad

20 fixing position pin 43 LED light frame

21 pin 44 light cover 

22 fixing part 45 plastic housing 

23 circlip ∅4 46 screw  ST2.9x14


